
[A] Marble Top

NO. ITEM

1

2

3

QTY.DESCRIPTION

PARTS ENCLOSED: HARDWARE ENCLOSED:

(A)  Marble Top (1)

(B) Base (1)

[B] Base

T O R A N O  M A R B L E  R E C T A N G U L A R  C O N S O L E  T A B L  E

4

5

6

7

8

9

Screw M5 x 30mm

Flat Washer 6 x 18mm

Spring Washer 6mm

Mounting Bracket

Clevis Pin

Hairpin Clip

Screw M8 x 15mm

Lanyard

Screw M8 x 38mm

4 pcs.

4 pcs.

4 pcs.

2 pcs.

2 pcs.

2 pcs.

1 pc.

2 pcs.

2 pcs.



Step 1:

Step 2:

T O R A N O  M A R B L E  R E C T A N G U L A R  C O N S O L E  T A B L  E

Page 2 of 4

2

1

3

Adjust Levelers



T O R A N O  M A R B L E  R E C T A N G U L A R  C O N S O L E  T A B L  E

Page 3 of 4

HOW TO USE HAIRPIN
To install push or pull  Bow-Tie™ into hole. Pull locked loop up and over to release.

9

6 

8

5

EXAMPLES FOR SECURING

Wall stud

ATTACH TO UNDERSIDE OF TOP.

Furniture

Anit-Tip Kit

6 

5

7

INSTRUCTIONS TO FIX THE ANTI-TIP KIT 



17.  Connect 48 sets of crystal links kit (L) for the third tier. Hang the  
crystal links kit around the third tier.

18. Connect 32 sets of crystal links kit (L) for the fourth tier. Hang the  
crystal links kit around the fourth tier.

19. Connect 16 sets of crystal links kit (L) for the fifth tier. Hang the  
crystal links kit around the fifth tier.

20. Insert the recommended bulbs into sockets.

21.  Assembly is complete.

IMPORTANT PLEASE READ

SAFETY INSTRUCTIONS:

Exercise care and precaution when moving furniture, as careless 

handling may cause injury and damage.

Never drag furniture. Always lift when moving.

Periodically check all fixtures to ensure none have come loose.

Re-tighten when necessary. Incorrect assembly of furniture can be 

dangerous.

No liability will be accepted for damage or injury caused by 

incorrectly assembled furniture.

Heavy item warning.

Take care and seek assistance when lifting heavy furniture to avoid 

personal injury and/or damage to product.

ASSEMBLY INSTRUCTIONS:

T O R A N O  M A R B L E  R E C T A N G U L A R  C O N S O L E  T A B L  E

Page 4 of 4

CARE INSTRUCTIONS:

Keep your marble top free of dust and dirt will minimize 

scratches and wear pattern that can from the everyday use

Clean your marble top on a regular basis with warm water and 

a clean, non-abrasive cloth, sponge, or mop, in addition, using 

a neutral cleaner specifically formulated for natural stone will 

help remove soils that normal dusting or damp mopping leave 

behind.

Do not use general purpose cleaner or you may damage your 

marble or the sealer applied. Do not use products that contain 

lemon, vinegar, or other acids as these may etch the marble 

surface of damage the polish. Do not use scouring powders 

or creams; these products contain abrasives that may scratch 

the surface. products that contain bleach should not be used 

to clean your marble surfaces.

1. Please find the corresponding numbered parts before you 

assemble the unit. Place marble top (A) on a flat floor 

covered with a protective material to prevent damage to 

the marble top. Place base (B) onto the marble top, keep 

marble top position blocks on the underside of the top 

between legs to prevent marble top from moving in 

horizontal direction. 

2. The base will align with the wood inserts in the underside 

of the tabletop, secure using screws (1), flat washers (2), 

and spring washers (3). Place all bolts in position first, then 

tighten with screwdriver. Pilot holes are not required.

3. Assembly is complete.

4. Adjust levelers as necessary.

5. Attach the furniture bracket (4) to the underside of console 

top horizontally. Secure using screws (7), tighten with 

screwdriver. Fix wall bracket (4) to wall vertically. Secure 

using screws (8), tighten with screwdriver. Always locate 

and attach wall bracket to stud. Do not depend on wall 

anchors. Secure using lanyard (9), clevis pins (5), and 

hairpin clips (6) to connect furniture and wall bracket as 

shown.


	Blank Page



